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ECONOMICS

( Honours )

Paper : ECO-HC-1016
( Introductory Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

oo R e il (R it wedt)

(a) What is the problem of ‘choice’?
‘Mg T 69

(b) Distinguish between a firm and an
industry.
<5l AfB wF G5 ST eSSy WefT
|

(c/ Mention one feature of capitalism.

Aferaima 9ot AR Sy T

(d) State one feature of economic goods.

gftaies Az <5 @RE Sy w4

A23/44T ( Turn Over )



fe)

(9)

(h)

(i

0l

(k)

M

(m)

(n)

(0)

A23/447

(2)

What is cross demand?

fote vfn &2

Write the demand function.

sifem Faw! forat

What are complementary goods?

sfees ARdrez [2

Draw the demand curve of Giffen goods.

foes ARAPTRY oIl o 39
What is the shape of perfectly inelastic

supply curve?

Topd SEfERIE @R wighe &7

What is producers’ surplus?
TesmATIR 058 67

Define opportunity sets.

e weEfed e |

What is income consumption curve?

ary A @4 59

Mention the concept of market demand.

G4 SR 4R ST 39 |

Distinguish between stock and supply.
TGS AF @M AES iy fady w1

Define imperfect competition.

ot aferfenr wewm

( Continued )

(3)

(p) What is derived demand?
s oz 72

(@ State one character of labour market.
o TS @B TaEy S T

() What is meant by property rights?
Feofed 192 & T@R?

2. Answer the following questions in wwonﬁm..wo
(any five) : 2x5=

%%ﬂgmgﬁﬁgoﬂmﬂu”

(@) Distinguish between positive economics
and normative €COnoOmicCs.

Mwﬂﬂ%%%ﬁ%@u%
sy fade

() What is economic problem?

weftafes o 767

(c) Write any two features of basic
competitive model.

Qe ofearerpe sk @ o
ey feran

(d) Why is the cross elasticity of .@namba
for substitute goods always positive and
negative for complementary goods?

g@zﬁa%ﬁéwﬂ%@ﬁ%@d
YrgT w7
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(4)

wsticity of demand for milk is
equal to unity (=1) and il at the price
of €40 per litre a household %Bm:.&a
40 litres milk, then how much milk
will be demanded at the price of €60

If price eli

per litre?

ofii orilqe pifenra v fafoRrael 4B Tl 2
s o e A 8 v 40 TP C2are
451 “fquerd 40 [ 9l bifE 2, oo
e fat e i 60 B X AMla
piigwid e foxa 247

Why do two indifference curves not
intersect each other?

ol forarems (A2 oy o@ed (7 TA?
Why is the supply curve of labour
upward sloping?

g cae G fen Bean® 27
Distinguish between fixed and variable

Costs,

fea we “faatada aua sider iy w4
Mention two government policies to
enhance competition in the market.
qutae dforfiner g ofaq ) qhr e Nfs
S 41|

Why do input demand curves shift to
the left?

Bt izt codl fon argmne whiufae 209

( Continued )

(5

3. Answer the following questions (any four) :
5x4=20

@ oPEEd Ted il (R @i sif¥st)

(a)

(b)

(c)

(d)

(e)

What is price rationing? Explain the

impact of price rationing on the market.
1+4=5

7 eTeRad [$7 v e (@A TGS
@ qe o REA T, It 73|

How does the profit motive drive the
market system? Discuss.

Afeq SEIE (FUMA ISR RS
FE7 AL 4 | .

5

Explain the characteristics of a mixed
economy.

fi S<fAifey TalEpmR U T4

What is price mechanism? How does
price mechanism allocate resources?

5

1+4=5
v dfen @2 v AfFER @ETR TR
frsaq 37

What is budget line? How do changes
in income and prices affect the budget

line? Use diagrams. 142+42=5
ED (@l 67 & AF R AREE @EE

qeh @9 geife wa? 5o Rz A
( Turn Over )
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(7))

( 6 )
(b) How is om.mnwm:o% of market H.m:wna MEQW
that a monopolist always Mﬁﬁ.mﬁm mnOn“cwonm and consumers’ surplus o
R curve. xplain.
i wn the elastic part of the deman 3+2=5 ﬂniﬁaﬁ 98 GIF (SIGH T7Ed TS TEHES
9
zsﬁaﬁ%%%ﬁggﬂ _ el f oTeE SR? [ 4
¢T4s

(c) Explain the various factors determining

.<h the relationship between individual and market demand. 10
(g) Establis st and marginal cost. WhY afese o wF @ o FdReTR
average from
does MC curve cut AC curve GvosE At 4|

o5 7 W AR T e T TR I

(d) What is substitution effect? Explain the
g T @R T T

concept of substitution effect with the
help of Hicksian and Slutsky method.

& A7 1+5+4=10
(h) Explain the various factors determining . afees Rt 52 famr ote uﬂw Tafeq RS
the demand for labour. e oAfos Refeq et et 3w |
fafemn IR |
wqa o R 4 4 (e) Explain the process of consumer’s
4 | optimum choice with the help of indif-
. ference curve approach. 10
. tions (any four) :
4. Answer the following ques 10%4=40 s @t Rerem mre cer w5y
I — B N Wc o R R B! 1 4 |
fa) What are the fundamental economic () Derive long-run average cost curve

problems of an economy? How can from short-run average cost curves.
various economic problems be axvp.mp.s.na Give reasons for the U-shape of long-
through the use of production possibility run average cost curve. 8+2=10

6=10
curve? K TR G W @ e Ao oo

4w wtifoq (e wdtafes TP 159 T @A W | A oy @
ffom wetefen TOYPREE DRl TR U-aRfed e waeprgz fo |
@1 IR @R A afaa Al :
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( 8)

(9) Explain the behaviour of a profit maxsi-
mizing firm in the short-run. 10

TR TS G+ drs A Afedta
GI6a4 iy F#4 |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

A AR g T egee! e
| RO JER g Ge-Rand
SAMCANT 5 et =9

() Describe the various applications of
elasticity of demand in economics. 10

wdiifes s fememer Rfsa aoms
I

() Explain how wages are determined in a
competitive labour market. 10

AT TR EET TGR @
fadifas =, rap )

* ok k
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